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Part I:

alternative hypotheses, your test-statistic and P-value, and the conclusion of your test. Give a
sentence to explain the meaning of the test in context undergtandable by a lay person. (12 points)
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2. Examine your boxplots. Is the équal variance assumption apgroximately satisfied? Why or why
not? (6 points)
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1. Report on the results of your ANOVA test of the cereal box fi:£ng machines. State your null and

most different from the others and is most in need of recalibfation? (Or if no recalibration is
needed.) Explain. (6 points)
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3. Based on the results of your test, and the box plots, which fillgg machine(s) appears to be the
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4. Report on the findings of your y?-test of independence. State the null and alternative
hypotheses, your test statistic and P-value, and the conclusioh. Give a sentence that
summarizes the meaning of the test that a lay person can understand. (12 points)
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5. Referring back to your pivot table of the data, report the vaiut of cell of Buy Category=Medium,

and Month=June] and the value of the expected count for tha

calculated that val
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same cell, and explain how you
ue. (6 points)
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6. Consider the data on the two ads. Is the data dependent or independent? Explain. (10 points)
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Its of the t-test. State any assumptions madle about the data, and the type of

test conducted, the null and alternative hypotheses, the test-s atistic and P-value, and the

conclusion of the {

context to a lay person unfamiliar with statistics. (15 points)

est. Summarize the results in a single senteﬂ‘ce that can explain the results in
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8. State your final regression equation and explain your reasonifig as to why you chose this option.'
Report the R? value for the equation you choose. (12 points)

y o "‘2?3@. 28K -t 690 S K<
(XTY = ~2570.%38 (Pres) + 16965 GAdoD

g*= . qqes

P-UaQAAM dhl .08 J’Wdﬂ MJ
Conotand sl die T Tegfl P

9. What proportion of the variability in quantity sold can be exp
(6 points)

ained by the variables you chose?
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10. Use the slope for Average Price, interpret the value of the slo?e in the context of the problem.
(8 points) ‘

—+2570, B

%)'-om Wﬁ M{)@L J’@ﬂﬂ” "“’ WM‘%‘W
fh granlily seld geeo daog by 257 wnds

Calculations in Excel: (1) 25 points, (2) 25 points, (3) 20 points, (4) 40 points.




Part II:

11. Included below i
data appearto b

12. Using the trendli
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model) is shown on the next page

Home Size Squared Residual
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regression assumptions are we

Squared in the equation. State
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14. The regression output for the quadratic (polynomial degree-3
along with the residual plots. Use this information to answett the questions that follow.
Home Size Residual Plot
| o Plot
, 200 -
| 2 300
I & 0 Y —e i =]
[ | y | ¢ o
@ 1,000 Y1g00e 2,000 @ 2,500 3,000 @
& 2,000,600
-200 -200
Home Size
a. What information do we get from residual plots? Which
testing? (6 points)
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b. What is the standard error? Interpret the meaning of th§ value in context? (6 points)
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c. State a 90% confidehte interval for the coefficient of Hory
({637, 3.05)
d. Conduct a hypothesis test on the coefficient of Home Siz
the hypothesis, test statistic and P-value, and interpret tte results in the context of the
problem. (8 points)
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Standard errors;

Sample sizes: n

Confidence inte

One sample:

Two samples (in

Test statistics:
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